Efficiency vs P,

- 0.2
o
€ 0.18F
Py -
20.16F
o}
2 F
20.14
[J]
0.12
0.4F-+ :
0.08F
0.06F
0.04F
0.02F

1.9

Ratio

107 1 10 1192pT (Ge\})o3

—=— DQM_NOFItZ_stepZ_tibar-phasel-newgeom
M_Fit2_step2_ttbar-phasel-newgeom

—— DQ
—— DQM_Fit2AndCPEGeneric_step2_ttbar-phasel-newgeom
—+— DOM_Fit2AndCPETemplate_step2_ttbar-phasel-newgeom

=
[N

efficiency vs n
o
(2] [y
I I
'

o

o
T
i

s o o S

Ratio

Efficiency vs ¢

o 0.2 T
@ o :
>0.18F 1+ :
2 : : : :
@026 g
3) : :
£=0.14F-- :
o : :
0.12F :
oL AR R
0.08F :
0.06f:-
0.04F -}
0.02F |-+ {4+ SR N SE SRR SR
A ST A L A T P | N T L A
o +F :
I H i
o [
1_— i - - -1Hr5-1n—n—¢r--51r-1|—n—|n;:‘ ----- 1r?-1r---n—n—:
3 2 -1 0 1 2 3



	Contents
	Page 1


